
HARDWARE IDENTIFICATION:

Base shelf
assembly

Face plate

BRACKETS (3)

Brackets can be mounted 
on the side panels or base

Insert screws 
from this side

Use countersunk holes to 
mount the shelf assembly to 
the cabinet mounting rails

10-32 x 7/8" 
finish head

screw

10-32 x 1/2" 
flat head

screw (uc)

8-32 keps
nut

8-32 x 3/8"
truss head

screw 

LOWELL MANUFACTURING
PACIFIC,  MO  63069

PHONE:  (636) 257-3400
FAX        (636) 257-6606

P/N: 15223

PARTS IDENTIFICATION

Rotate the sides of the base shelf assembly to an upright
position and center the piece of equipment on the base
shelf. 

Attach the hold down brackets to the sides or bottom of the
shelf assembly (as shown) with 8-32 x 3/8" truss head screws
and 8-32 hex nuts.  Move the equipment to the front or rear
of the shelf assembly to suit and tighten all of the screws in
the hold down brackets.

Mount the base shelf assembly on the cabinet front mounting 
rails as shown with 10-32 x 1/2" flat head screws.

Center the window in the face plate over the piece of 
equipment and slide the face plate forward until it touches
the shelf assembly.   Secure the face plate to the rack kit 
with 10-32 x 7/8" finish head screws.

RMK SERIES RACK MOUNT KITS
2RU TO 5RU APPLICATIONS

HARDWARE:
4   10-32 x 7/8" Finish head screws (BO) (P/N: 21326)
4   10-32 x 1/2" Flat head screws (UC) (P/N: 15813)
6   8-32 x 3/8"  Truss head screws  (P/N: 234)
6   8-32 Keps nuts (P/N: 2370)
3   Brackets (P/N: 11765)

REV. A 8-10-15
REV. B 12-1-16


	Sheet1
	Drawing View6
	Drawing View7
	Drawing View13
	Drawing View14
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View23
	Drawing View25


